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SSC CHSL Tier-I :-Pattern

Sections/Subjects Number of Questions Maximum Marks Time Duration

each section

General Awareness 25 50 60 minutes
Reasoning/General 25 50

Intelligence

English Language (Basic 25 50

Knowledge)

Quantitative Aptitude 25 50

(Basic Arithmetic Skill)

Total 100 200
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'/ at 08:30 PM |/

SSC CHSL Tier 2 Plaper II Exam Pattern

Sections Module Subject No. of Questions Marks Weightage Duration
Mathematical
Module-I 30 90 25%
Abilities
Section I 1 hour
Reasoning and
Module-II . 30 90 25%
General Intelligence
Session —I
English Language
(2 hours & 15 Module-T 3 i 40 120 33.33%
Min) Section 11 Angle pIprenension 1 hour
Module-II General Awareness 20 60 16.66 %
. Computer o .
Section II1 Module-I 15 45 Qualifying 15 minutes
Knowledge Test
) Qualifying 15 minutes
Skill Test For DEOs
Session —II | Section III Module-II
. Qualifying 10 minutes
Typing Test For LDC/JSA
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The expenditure of a company increases by 25%, then increases by 30%, then

further decreases bwi/gi he overall percentage change in expenditure is:
Uk ShUHT Rl 0T 25% 92dT &, T 30% T 8, T 20% A BT ATdaT 8l saT H

HeT AT TS 2: _
X r:x_mka\&@‘; O\QM\& Q}pﬁ\=;\00 / .

a) 10

: c) 34
— d) 22
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By using faulty weight, a shopkeeper cheats to the extent of 6% while buying

and selling rice. Find his gain percentage (rounded to two decimal places).

YT T T STANT ek, TATTA @ﬁaﬁaﬁ'{aﬂﬁﬁ;?ﬁmww 6% dh
T ENRET AT B SHhT AT UTT9Te (FITHAST oh ST TATAT k) FT h |

oo / a) 14.66%

9. \© O
\ AX O\ \_,\ _ > \OD
0\\/\ b) 13.65%
( I*__'_';:L \> c) 12.77%

d) 11.25%
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The radius of a roller is 14 cm and its length 20 cm. It takes 235 complete

revolutions to move once over to level a playground. Find the area of the

playground.(Use TUT = 22/7)
Ueh I <hl TS 14 THT TAT TS 20 HT Bl Ueh T oh W Shl THAA hid h

ToTT Uk IR g8 | 235 YUT ekt oI7Td &1 TS oh HETH ohT A% AT ehITeTT)

a) 413¢ cm?

)| b) 4136 x 103 cm?
= AdS *\%@*é‘%\ < c) 41360 cm?
= WSH\60= '\’\\Asfl\i d) 4136 x 1(}‘ cm?




Find the total surface area of a cylinder with diameter of base 28 cm and
height 70 cm. (Take TU = 22/7)

Tk ST ST Shel ST el AT hitWTT, TTdeh STeR o1 sty 28 T 3R 32T
70 VHT B

TR A SHR= AN U}L‘\\‘)
= @\7@';;‘1\2(6\ @p&\%

_ Qe A 2) 7300 cm2 X

=y, b) ’Q{}B cm2A,

:(\"l%‘i(é\”i/ C) E%O?icmZ?4

— ) U cm?2
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A shopkeeper marks his articles at 30% above the cost price and
allows the purchaser a discount of 20% for cash buying. What profit

per cent does he make?
Ueh SRMER SO SEqaAt O shdl Hod A 30% 3ATerh siferd wtar 2 ol
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In a trip, Ram covers a distance of 200 km in 10 hours. First he started his journey by
bike at a speed of 15 km/h, after that his bike broke down and he traveled the rest of

the journey with his friend's car at 25 km/h. The ratio of distances covered by bike

and car is

U qETH, rrqq%fr 200 TRt <hT S T AT 81 Tt A 15 Tehtii/eiet bt wid &
aﬁ%ﬁﬁa:rqtﬁwwsﬁ mmwﬁmwﬁﬂéaﬁ?wﬁﬁvwaﬁw

T HR A 25 Terti/eier ot ia & a3 6l aﬁwwma'aaﬁn's‘aﬁ s
pS = 222~ 3" SRR RN M
e Cop- Ny o = Sy b)2: 3
G /S%?W '

VI L

— “W\Q
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If P varies directly as Q, and P = 227 when Q =232, find P when Q = 116.
AfE P, Q T FTHATIUTAT &, HR T Q = 232 WX P =227 §, Al P AT shivTd 1 Q =

6%
0 K QL
W__,\<®§ % n); a) 120.5
23D
a7 = \<*1 @
\\Q ) %’i\:&%\ Y \\3 s
‘ cL)) \ ¢) 132

d) 118



If x - y =25 and xy = 78, then what is the value of x> + y*?
i x - y = 25 3R xy = 78 ®, AT x + y2 T AT TehaAT ZRIT?

L
()= T =2

T o e S 2) 625

| =
625K \S6= A=Y lI

(A‘t CLy) \ ) 103

d) 756
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In a 1200 m race, the ratio of the speeds of two contestants Meenal and

Nitu is 5 ¢ 7. If Meenal has a start of 500 m, then Meenal wins by:

1200 wiex Y 215 |, 31 UFAF T Wiet 31 g Y T T AU 5 £ 7 )
At WA T 500 Hiet 6T JHATT & AT &, q HieT o e et

\2osTne \

a) 220 m
b) 240 m
c) 250 m
d) 225 m




= J SSC CHSL 2022-23 A--PYTTV04

The tax on a commodity diminishes by 14% and its consumption increases
by 10%. Find the effect on revenue.
Th T W 14% HH T ATAT § 3T FHhT @UT 10% TG AT 8| T T

THT [T hITST0|

a) Decreases by 9.5%
b) Decreases by 6.5%

—

@creases by 5.5%
d) Decreases by 7.4%




Find the total surface area of a solid hemisphere whose radius is 4.2

cm

Teh ST ST ST hed THT STohet 7T shifore Rrwreht Bram 4.2 ot 2)

C.SH — anzs
b) 366.32 cm?2

.
sk =22 ¢ —
AU
c) 166.32 cm?2

= d) 466.32 cm?2

a) 266.32 cm?2
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The average weight of 18 persons increases by 2.5 kg when a new person
comes 1n place of one of them weighing 72 kg. The weight of the new
person 1s:

18 SATRAT T 3T ST 2.5 TR 51¢ STaT @ STe 340 | 72 foham a=i ot

S fxh o T UL Teh 97 1<k AT STTAT 2| T i<k T a1 &

\ B S = US Ty

Pers Vo 2y T b) 127 kg

( = w c) 117 kg
| 1y,
Ve ) A7 d) 77 kg
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If 15 people take 5 days to complete a job, in how many days can 25

people finish that work?
Q15 Sk Teh T 3l U HE H 5 {o1 T @80T Wi &, qF 25 SFith 36 1 &

fora et H O ot Tohdl &7

b) 4

/\
"
-
@
N~
@



If the curved surface area of a closed cylinder is 225 ¢cm?” and the area of its
base is 169 cm?, then find the total surface area of the cylinder.
IS Teh &g ST 3T aIsh IEIT &thet 225 a7 9t € 37T SHeh ST T &l

169 2, QI S ol el IETT &% JTd hiTSIY)
\e
A\

2.9 A AN 595

a) 394 cm2
b) 343 cm?2
c) 563 cm2
d) 195 cm2

-
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One dozen books quoted at 120 are available at 15% discount. How many

books can be bought for 517
%120 W Tohd Tk 3 Tk 15% B T 3T &1 T51 | foheft Toareh @lia

STT Hohet] 22
ke =) \ fen= 122 =10
SRRt oY i
Mool Rosls™ 38\ S = 123353
<\i o\ :Lw ©) 6

d) 7



Which of the following options 1s NOT divisible by 18?
feferfaa o @ =t a1 foshew 18 @ favmsa 78 22

=

a) 571032
.l b) 732546
/ FW1\\) c) 245798

8e = d) 459018
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